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 Que-l(A) Explain the elements of environmental analysis. — T ] 1T4]
OR

Que-1(A) 1. Explain the porter’s model of industry analysis [07]

2. Explain the Strategic Business Unit (S.B.U.) [07]

Que-1(B) Answer the following questions (Any Four) [04]

1. What is strategy?

. What is major strategy?

. What is mixed strategy?

. What is complementary strategy?
. What is a goal?

. What is Objective?
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Que-2(A) What is take over? State the guideline for it and discuss the advantages and dis-advantages of take [14]
over.
OR
Que-2(A) Write a note on:
1.Service Blue Printing [07]
2.Bench Marking [07]
Que-2(B) Answer the following questions (Any Four) [04]
1. State the types of diversification.

2. What is stable strategy?
3. What is turn-around strategy?
4. What is dis-investment strategy?
5. What is joint venture?
6. What is value?
[14]
Que-3(A) Explain any two operational strategies.
OR [07]
Que-3(A) (1) State the factors affecting acquisition of finance policy. [07]
(2) Write a note on: Human Resource Management. [03]
Que-3(B) Answer the following questions (Any Three)
1. What is branding?
2. State the components of motivation.
3. Give full form of T.Q.M.
4. State the principles of capitalisation.
5. What is applied research? [14]
Que-4(A) Explain the 7°s model of Mckinsey in detail. [07]
OR (07]
Que-4(A) (1) Write a note on: Allocation of resources. [04]

(2) State the suggestions for effective implementation of strategy.
Que-4(B) Answer the following questions (Any Three)

1. Give full form of PERT.

2. What is known as long term goals?

3. What is international strategy?

4. What is strategic control?

5. What is holding company structure?



